ARTIFICIAL INTELLIGENCE 2
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This operator produces a $et of candidate edge points, from which the

edge points are selected by

comparing each value with a threshold value.

This is the second step. The supra-threshold values are replaced by

1s to produce the binary regresentation.
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Problem 2
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2. Often the cross operator is| simplified for computational efficiency by

using absolute magnitudes. It becomes:
R= [(a=-Db] + [(c al
Apply the absolute magnitude operator to the picture functions given

in Problems 1 and 2, and compare the resulting binary images with the

images generated by the square root opefator.




